
 

 
 
 
 
 
 
 

 1 

Thank You for choosing Westin products 
For Additional installation assistance please call 

Customer service (800) 793-7846 
www.westinautomotive.com 

P.N.: 75-3083 REV A ECO #: W14-0076 

Westin Automotive Products, Inc. 
320 Covina Blvd 
San Dimas, Ca. 91773 

DATE: 1/22/14 

 

APPLICATION: LICENSE PLATE RELOCATOR / ALL VEHICLES THAT USE 3 1/2”  
CONTOUR BULL BAR  

APP PART # 32-30055 

ITEM QUANTITY DESCRIPTION TOOLS NEEDED 

1 1 RELOCATOR BRACKET RATCHET 

2 2 M10 BUTTON HEAD CAP SCREW (STAINLESS) TORQUE WRENCH 

3 2 M10 INTERNAL TOOTHED LOCK WASHER (STAINLESS) 
4MM - 6MM HEX  

KEY TOOLS       

(INCLUDED)  

4 2 M10 FLAT WASHER (STAINLESS) 

5 2 M6 BUTTON HEAD CAP SCREW (STAINLESS) 

6 2 RUBBER BUMPERS (ADHESIVE BACKING)  

INSTALLATION INSTRUCTIONS 

AUTOMOTIVE PRODUCTS, INC. 

1. Remove contents from box, verify if all parts listed are present and undamaged. Carefully read and understand all 

instructions before attempting installation. (Note: It is usually easier to install relocator to Bull Bar before installing 

Bull Bar to vehicle.) 

2. Place rubber bumpers on bracket face to keep bracket from contacting the Bull Bar. See Figure 1. 

3. Loosely install license plate to bracket using supplied M6 hardware. Use either top or bottom threaded insert to en-

sure best fit and license plate visibility, see Figure 1.  

4. Loosely install relocator bracket to Bull Bar with supplied M10 hardware, see Figure 2.  

5. Align and adjust as necessary, then Torque: M6 hardware to 6 ft-lbs, M10 hardware to 30-35 ft-lbs. 

6. Attach Bull Bar to vehicle according to the instructions supplied with the Bull Bar Assembly. 

 

 

ANTI-SEIZE LUBRICANT MUST BE USED ON ALL STAINLESS STEEL FASTENERS TO PREVENT THREAD DAMAGE AND GALLING . 

Figure 1 

Install rubber bumpers to 

relocator bracket, then 

install license plate with 

supplied M6 hardware. 



 

 
 
 
 
 
 
 

 2 

Thank You for choosing Westin products 
For Additional installation assistance please call 

Customer service (800) 793-7846 
www.westinautomotive.com 

P.N.: 75-3083 REV A ECO #: W14-0076 

Westin Automotive Products, Inc. 
320 Covina Blvd 
San Dimas, Ca. 91773 

DATE: 1/22/14 

CARE INSTRUCTIONS 

 REGULAR WAXING IS RECOMMENDED.  DO NOT USE ANY TYPE OF POLISH OR WAX THAT MAY CONTAIN ABRASIVES. 

 STAINLESS STEEL PRODUCTS CAN BE CLEANED WITH MILD SOAP AND WATER.  STAINLESS STEEL POLISH SHOULD BE USED TO POLISH SMALL SCRATCHES. 

 GLOSS BLACK FINISHES SHOULD BE CLEANED WITH MILD SOAP AND WATER. 

INSTALLATION COMPLETE 

Install relocator bracket 

to bull bar using supplied 

M10 hardware. 

Figure 2 


